LAKE Putto General For ISSO

City of Lake City

Procurement

Karen Nelmes, CPPB, NIGP-CPP, Procurement Director

205 N. Marion Ave., Lake City, FL 32055

EVALUATION TABULATION

ITB No. ITB-027-2021

WATER QUALITY SAMPLING & LAB TESTING – ANNUAL CONTRACT

RESPONSE DEADLINE: October 18, 2021 at 2:00 pm Report Generated: Wednesday, October 27, 2021

SELECTED VENDOR TOTALS

Vendor	Total
Advanced Environmental	\$112,753.00
Laboratories, Inc.	

ITEM I: WASTEWATER TREATMENT PLANT (DEP PERMIT)

A. DIGESTED SLUDGE

				Advanced Environmental Laboratories, Inc.		
Selected	Line Item	A. DIGESTED SLUDGE	Estimated Samples	Unit of Measure	Price per sample test	Total
X	1	Complete set	4	ea.	\$397.00	\$1,588.00
X	2	% Solids before dewatering	4	ea.	\$10.00	\$40.00
Total			•			\$1,628.00

ITEM I: WASTEWATER TREATMENT PLANT (DEP PERMIT)

B. PLANT IFFLUENT/ EFFLUENT:

Advanced Environmental
Laboratories, Inc.

Selected	Line Item	B. PLANT IFFLUENT/ EFFLUENT:	Estimated Samples	Unit of Measure	Price per sample	Total
X	1	Annual Treated Effluent Analysis (Industrial Pretreatment)	1	ea.	\$525.00	\$525.00
Х	2a	Weekly Analysis (St. Margarets EFA-1) CBOD'S	52	ea.	\$16.00	\$832.00
Х	2b	Weekly Analysis (St. Margarets EFA-1) TSS	52	ea.	\$10.00	\$520.00
X	2c	Weekly Analysis (St. Margarets EFA-1) FECAL	52	ea.	\$12.00	\$624.00
Х	3	Semi-Annual (Service Zone EFA-1) NITRTE	1	ea.	\$12.00	\$12.00
X	4a	Bi-Weekly Analysis (Sites INF-1 & EFA-1) CBOD'S	26	ea.	\$16.00	\$416.00
X	4b	Bi-Weekly Analysis (Sites INF-1 & EFA-1) TSS	26	ea.	\$10.00	\$260.00
X	4c	Bi-Weekly Analysis (Sites INF-1 & EFA-1) FECAL	26	ea.	\$12.00	\$312.00
X	5a	Public Access Reuse (PAR) Analysis CBOD	365	ea.	\$16.00	\$5,840.00
X	5b	Public Access Reuse (PAR) Analysis TSS	365	ea.	\$10.00	\$3,650.00
X	5c	Public Access Reuse (PAR) Analysis FECAL	365	ea.	\$12.00	\$4,380.00
X	6	Monthly Nitrogen Series and phosphorous	12	ea.	\$56.00	\$672.00
X	7	Weekly Nitrate plus Nitrite Total Nitrogen and Phosphorous	52	ea.	\$46.00	\$2,392.00
X	8	Quarterly IPP	4	ea.	\$135.00	\$540.00
Total						\$20,975.00

ITEM I: WASTEWATER TREATMENT PLANT (DEP PERMIT)

C. ANNUAL IPP ANALYSIS:

				Advanced Environmental Laboratories, Inc.		
Selected	Line Item	C. ANNUAL IPP ANALYSIS:	Estimated Samples	Unit of Measure	Price per sample	Total

X	1	Influent/Effluent/sludge	3	ea.	\$676.00	\$2,028.00
Total						\$2,028.00

ITEM II: SCHEDULE OF TEST-EFFLUENT SPRAYFIELD (DEP PERMIT)

A. GROUND WATER MONITORING WELLS AND RESEVOIR -EFFLUENT QUARTERLY & MONTHLY ANALYSIS

					Advanced Environmental Laboratories, Inc.	
Selected	Line Item	A. GROUND WATER MONITORING WELLS AND RESEVOIR —EFFLUENT QUARTERL	Estimated Samples	Unit of Measure	Price per sample	Total
X	1	Quarterly (Sprayfield)	40	ea.	\$158.00	\$6,320.00
Х	2	Monthly (Bio-Solid Site)	72	ea.	\$189.00	\$13,608.00
Total	1		1			\$19,928.00

ITEM III: WASTEWATER TREATMENT PLANT (EPA PERMIT) A. EFFLUENT BY-PASS:

				Advanced Environmental Laboratories, Inc.		
Selected	Line Item	A. EFFLUENT BY-PASS:	Estimated Samples	Unit of Measure	Price per sample	Total
X	1	Complete Set	9	ea.	\$43.00	\$387.00
Total						\$387.00

ITEM III: WASTEWATER TREATMENT PLANT (EPA PERMIT) B. DIGESTED SLUDGE

Advanced Environmental
Laboratories, Inc.

Selected	Line Item	B. DIGESTED SLUDGE	Estimated Samples	Unit of Measure	Price per sample test	Total
X	1	125 Priority Pollutants	1	ea.	\$545.00	\$545.00
X	2	Toxicity Characteristic	1	ea.	\$450.00	\$450.00
X	3	Bench Scale Test	12	ea.	\$90.00	\$1,080.00
X	4	Total Solids	12	ea.	\$10.00	\$120.00
Total			'			\$2,195.00

ITEM III: WASTEWATER TREATMENT PLANT (EPA PERMIT) C. REAGENT WATER

				Advanced Environmental Laboratories, Inc.		
Selected	Line Item	C. REAGENT WATER	Estimated Samples	Unit of Measure	Price per sample	Total
X	1	Annual Analysis	1	ea.	\$48.00	\$48.00
Total						\$48.00

ITEM III: WASTEWATER TREATMENT PLANT (EPA PERMIT) D. BACKGROUND SURFACE WATER

						nvironmental ories, Inc.
Selected	Line Item	D. BACKGROUND SURFACE WATER	Estimated Samples	Unit of Measure	Price per sample	Total
X	1	Analysis (quarterly	4	ea.	\$32.00	\$128.00
Total	Total					\$128.00

ITEM IV: WASTEWATER TREATMENT PLANT (IWPP PERMIT)

A. INDUSTRIAL CUSTOMER

					Advanced Environmental Laboratories, Inc.	
Selected	Line Item	A. INDUSTRIAL CUSTOMER	Estimated Samples	Unit of Measure	Price per sample	Total
X	1	Effluent	2	ea.	\$66.00	\$132.00
Х	2	Pollutants	2	ea.	\$545.00	\$1,090.00
Total						\$1,222.00

ITEM V: KICKLIGHTER RECLAMATION FACILITY (DEP PERMIT)

A. DIGESTED SLUDGE:

					Advanced Environmental Laboratories, Inc.	
Selected	Line Item	A. DIGESTED SLUDGE:	Estimated Samples	Unit of Measure	Price per sample test	Total
X	1	Complete set	4	ea.	\$397.00	\$1,588.00
X	2	% Solids before dewatering	4	ea.	\$10.00	\$40.00
Total	Total					\$1,628.00

ITEM V: KICKLIGHTER RECLAMATION FACILITY (DEP PERMIT)

B. PLANT IFFLUENT/ EFFLUENT:

A				Advanced Environmental Laboratories, Inc.		
Selected	Line Item	B. PLANT IFFLUENT/ EFFLUENT:	Estimated Samples	Unit of Measure	Price per sample	Total

X	1	Annual Treated Effluent Analysis (Industrial Pretreatment) 1 ea.		\$550.00	\$550.00	
X	2a	2a Weekly Analysis (Kicklighter Facility EFA-1) CBOD'S		ea.	\$16.00	\$832.00
X	2b	Weekly Analysis (Kicklighter Facility EFA-1) TSS	52	ea.	\$10.00	\$520.00
X	X 2c Weekly Analysis (Kicklighter Facility EFA-1) FECAL 52 ea.		ea.	\$12.00	\$624.00	
Total					\$2,526.00	

ITEM VI: PRICE CREEK WATER TREATMENT PLANT AND ALL BACTERIOLOGICAL TESTING FOR PLANT AND DISTRIBUTION

ALL BACTERIOLOGICAL TESTING FOR PLANT AND DISTRIBUTION

				Advanced Environmental Laboratories, Inc.		
Selected	Line Item	ALL BACTERIOLOGICAL TESTING FOR PLANT AND DISTRIBUTION	Estimated Samples	Unit of Measure	Price per sample	Total
X	1	Complete set	52	ea.	\$1,155.00	\$60,060.00
Total						\$60,060.00

VENDOR QUESTIONNAIRE PASS/FAIL

Question Title	Advanced Environmental Laboratories, Inc.
References	Pass
Title and Organization	Pass
Local Office	Pass
Principal Office	Pass
Conflict of Interest Statement	Pass
Disputes Disclosure Form	Pass
Disputes Disclosure Form - Explanation	Pass
Disputes Disclosure Form - Acknowledgement	Pass
Drug Free Workplace Certificate	Pass

Non-Collusion Affidavit	Pass
E-Verify Affirmation Statement	Pass
Bidder's Checklist	Pass
Clarifications and Exceptions	Pass
Sworn Statement Under Section 287.133(3)(n), Florida Statutes on Public	Pass
Entity Crimes	
Federal Identification No. (FEID)	Pass
Acknowledgments	Pass
Please indicate which statement applies.	Pass
Required Documents	Received
Describe Action Taken	N/A